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 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 
 

    

1.  What is Mobility of Labour? Explain the type and importance of Mobility of Labour. 

 

OR 

 

Explain the nature and characteristics of Labour Markets in developing countries like 

India. 

 

16 

2.  What are the causes of unemployment in India? Suggest Measures to solve them. 

 

OR 

 

What is unemployment? Explain the type of unemployment and suggest measure to 

unemployment? 

 

16 

3.  Answer the following question any two. 

a) “There is a basic difference in wages of organized and unorganized sector”. 

 Comments. 
 

b) Explain the objective of national wage policy. 
 

c) Write a note on wage determination in rural sector. 
 

d) Explain the concept of Minimum wage. 

 

16 

4.  Answer the following questions any two. 

a) Explain the concept of industrial disputes and its causes. 
 

b) Evaluate the trade union movement in India. 
 

c) Explain the classical theory of wage determination. 
 

d) Explain the concept of collective bargaining write its importance. 

 

16 

5.  Answer the following questions all compulsory. 

a) Explain the problem of Educated unemployed. 
 

b) Discuss ‘Wage commission’. 
 

c) Explain the factor of determining labour force. 
 

d) Write a short note on technical changes and employment. 

 

16 

  ************  

  

*0794* 



GUG/S/23/10384 2 

 

M.A. - I (Economics) (CBCS Pattern) Semester - III 
EO-303 - Labour Economics 

 
Time : Three Hours Max. Marks : 80 
_____________________________________________________________________ 

 सुचना :- 1. सर्व प्रश्न सोडवर्णे आर्श्यक आहेत. 
 2. सर्व प्रशनाांना समान गुण आहेत. 

 

    

1.  श्रम गततशिलता म्हणजे काय? श्रम गततशिलतेच ेप्रकार र् महत्र् स्पष्ट करा. 
 

क िं वा 
 

भारतासारख्या वर्कसनिील देिातील श्रम बाजाराचे स्र्रूप र् र्ैशिष्टे स्पष्ट करा. 
 

16 

2.  भारतातील बेरोजगारीचे कारणे कोणती आहेत? ते सोडवर्ण्यासाठी उपाय सुचर्ा. 
 

क िं वा 
 

बेकारी म्हणजे काय? बेकारीचे प्रकार स्पष्ट करून बेकारीर्र उपाय सुचर्ा. 
 

16 

3.  खालील प्रशनाांची उत्तरे शलहा  ोणतेही दोन. 
अ) “सांघटटत आणण असांघटटत क्षेत्रातील मजुरीत मुलभूत फरक आहे’’ भाष्य करा. 
 

ब) राष्रीय रोजगार धोरणाची उद्टदष्टे स्पष्ट करा. 
 

क) ग्राशमण क्षेत्रात मजूरी तनधावरणार्र टटप शलहा. 
 

ड) न्यूनतम मजूरीची सांकल्पना स्पष्ट करा. 
 

16 

4.  खालील प्रशनाांची उत्तरे शलहा  ोणतेही दोन. 
अ) औद्योगगक कलहागच सांकल्पना र् कारण ेस्पष्ट करा. 
 

ब) भारतातील श्रशमक सांघ चळर्ळीचे मुल्यमापन करा. 
 

क) र्ेतन तनधावरणाचा परांपरागत शसधदाांत स्पष्ट करा. 
 

ड) सामुटहक सौदेबाजीची सांकल्पना स्पष्ट करून ततचे महत्र् स्पष्ट करा. 
 

16 

5.  खालील सर्व प्रशनाांची उत्तरे थोडक्यात शलहा. 
अ) सुशिक्षक्षत बेरोजगारीची समस्या स्पष्ट करा. 
 

ब) र्ेतन आयोग यार्र चचाव करा. 
 

क) श्रम िक्ती तनधावरणाचे घटक स्पष्ट करा. 
 

ड) ताांत्रत्रक बदल र् रोजगार यार्र टटप शलहा. 
 

16 

  ************  
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 सुचनाएँ :- 1. सभी प्रशन अतनर्ायव है। 
 2. सभी प्रशनों के अांक समान है। 

 

    

1.  श्रम की गततशिलता क्या है। श्रम गततशिलता के प्रकार एरं् महत्र् स्पष्ट कीजीये। 
 

अथवा 
 

भारत जैस ेवर्कसनिील देि में श्रम बाजार का स्र्रूप एर्ां वर्िेषताएँ स्पष्ट कीजीये। 
 

16 

2.  भारत में बेरोजगारी के क्या कारण है। इन्हे दरू करने के उपाय सुझाइए। 
 

अथवा 
 

बेरोजगारी क्या है। बेरोजगारी के प्रकार स्पष्ट करके बरेोजगारी पर सुझार् टदजजये। 
 

16 

3.  तनम्न प्रशनों में से क न्ही दो के उत्तर शलणखये। 
अ) ‘सांगठीत एर्ां असांगठीत क्षेत्र के मजदरूी मे मुलभूत अांतर है’। भाष्य ककजजए। 
 

ब) राष्रीय मजदरूी तनती के उद्देशय स्पष्ट ककजजए। 
 

क) ग्राशमण क्षेत्र में मजदरूी तनधावरण पर टटप्पणी शलणखए। 
 

ड) न्यूनतम मजूरी की सांकल्पना स्पष्ट कीजीये। 
 

16 

4.  तनम्न प्रशनों में से क न्ही दो के उत्तर शलणखए। 
अ) औद्योगगक वर्र्ाद की सांकल्पना एर्ां कारणो को स्पष्ट ककजजए। 
 

ब) भारत के श्रशमक सांघ आांदोलन का मुल्यमापन ककजजए। 
 

क) र्ेतन तनधावरण की सनतनर्ादी शसधदाांत स्पष्ट ककजजए। 
 

ड) ‘सामुटहक सौदेबाजी’ की कल्पना स्पष्ट करके उसका महत्र् बताइए। 
 

16 

5.  तनम्न प्रशनो के उत्तर शलणखए सभी अतनर्ायव। 
अ) सुशिक्षक्षत बेरोजगारी की समस्या स्प्ष्ट ककजजए। 
 

ब) मजदरूी आयोग पर चचाव करे। 
 

क) श्रम िक्ती के तनधावरक घटक स्पष्ट ककजजए। 
 

ड) तांत्रज्ञानात्मक पररर्तवन एर्ां रोजगारपर सांक्षक्षप्त टटपणी शलणखए। 

16 

  ************  
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